PREVIOUS PAPER

HIGH COURT CLERK-2012

GENERAL KNOWLEDGE
1.

Who has written the waste land?
a) W. Somerset Maugham

b) TS. Eliot
¢) Kuldip Nayar
d) Franz Kafka

The MRTPC had been created with the
purpose of preventing

a) The outbreak of communal riots.

b) The intrusion of religion into politics.
¢) The growth of monopolistic industrial
houses. '

The infiltration of foreigners from
across the borders.

d)

. The Dilwara temples are located in

a) Mussorie b) Puri
¢) Mount Abu d) Srinagar
What does SEBI stand for?

a) Senior Examination Board of India

. b) Satellite Engineering Bureau of India
¢) Securities & Exchange Board of India
d) None of the above

. Who is the author of the coniroversial novel

Lajja?

a) Pearl S. Buck

b) Tasleema Nasreen :
c) Atal Behan Vajpayee
d) Mark Tully

The Windows is the world’s most popular OS
(operating system) presently. The most recent -
threat to the Windows that has emerged is the

a) Unix b) MSDos
¢) Linux d) None of the
above

Under the Consumer Protection Act, 1986,
the consumer’s rights include the right(s) to
a) Consumer education

b) Be protected against marketing of goods
which are hazardous to life and property.
Seek redressal against unfair trade
practices or unscrupulous exploitation of
consumers.

All of the above.

c)

d)

The renovation of conference room would
be undertaken by which of the following
departments-

a) Administration

b) Accounts

¢) Personnel and Training

d) Purchase and Stores

The appointment of a junior accountant will be
made by which of the following departments
a) Administration

b) Accounts

¢) Personnel and Training

d) Public Relations

. Who is the Chief Election Commissioner of

India at present?

a) M.S. Gill

b) J.M. Lyngdoh

¢) Navin Chawla
d) Dr. S.Y. Quraishi

. A dispute relating to the election of the

President of India is decided by the-
a) Election Commission

b) Chief Justice of India

¢) Supreme Court

d) Parliament
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12. As per Indian Constitution, in the event of

13.

14.

15.

16.

17.

any conflict between the union laws and state
laws-

a) The matter is referred to the Supreme
Court

The state laws shall prevail

The union laws shall prevail

The matter is referred to the Parliamentary
Committee specifically constituted to
resolve the dispute

b)

<)
d)

The Philosopher President of India was-
a) V.V. Giri

b) Dr. Rajendra Prasad

¢) Dr. S. Radhakrishnan

d) Dr. Fukhruddin Ali Ahmed

Who appoints the Governors of Indian states?
a) Council of Ministers

b) Vice-President

¢) Prime Minister

d) President

What was Lala Lajpat Rai demonstrating
against when he succumbed to police
brutality?

a) Rowlatt Act

b} Minto Morley Reforms

c) Pitts India Act '

d) Simon Commission

Vande Matram was taken from-
a) Rajtarangani b) Anand Math
¢) Akbarnama d) Akbar Kosha

In India Dhariwal and Ludhiana towns are
famous for-

a) Silk textiles
c) Cotton textiles

b) Woollen textiles
d) Synthetic
textiles _

19.

20.

-

. The largest postal network in the world is in-
a) USA. b) China
¢) India d) Brazil

Which country is known as Britain of the South?
a) Malaysia b) Fizi
c) Australia d) New Zealand

Who is the present President of International
Cricket Council?

a) David Morgan
c) Sunil Gavaskar

b) Percy Sonn
d) Sharad Pawar

Who holds the record of taking maximum
number of wickets in test cricket?
a) Anil Kumble (India)

. b) Muthia Murlitharan (Sri Lanka)

22.

¢) Courtney Walsh (West Indies)
d) Irfan Pathan (India)

Nobel Prizes are not given for which of the
following fields?

a) Physics b) Chemistry

c) Peace d) Music

23. What is the number of States in the Union of India?

24,

23,

a) 28
c) 26

b) 32
d) 27

Who is the present United States Secretary
of State?

a) Colin Powel

b) Condoleezza Rice

¢) Hillary Clinton

d) Dick Cheney

“Rule of Law” means:

a) All persons are equal in the eyes of law
b) Treating all unequally as equals

c) Working according to law

d) Distributing state largesse to everyone in

equal proportion 22



26.

- ¢) Firmware

27,

28.

29.

30.

31.

32.

UNIX is
a) Operating System b) Hardware
d) Language

‘Frontier Gandhi® was the nick name of:
a) Mahatma Gandhi

b) Khan Abdul Gaffar Khan

¢) Vinoba Bhave

d) None of these

Which of the following is the oldest High
Court in India?

a) High Court of Madras

b) High Court of Calcutta

c) High Court of Delhi

d) High Court of Allahabad

When Shri Atal Behari Bajpayee became
Prime Minister for the first time, the President
of India was:

a) R. Venkatraman

b) S.D. Sharma

c) K.R. Narayanan

d) A.PJ. Abdul Kalam 3

Pt. Madan Mohal Malviya was the founder of:
a) Banaras Hindu University

b) Delhi University

¢) Kashi Vidyapeeth

d) - Allahabad University

The World Bank’s Headquarters is in
a) Geneva

b) New York

c) Paris

d) Washington D.C.

Lumbini is the place where the Buddha
a) Attained Nirvana

b) Attained Enlightenment

¢) Was born

d) Was married

33.

34,

35.

36.

37.

38.

39,

40.

When was the First World War declared?

a) 1914 b) 1915

c) 1918 d) 1913
Deodhar Trophy is given for the game of
a) Cricket b) Football

c) Hockey d) Golf

A puisne Judge of a High Court is

a) A Judge other than a Chief Justice
b) The Chief Justice

c) A temporary Judge

d) A retired Judge

Which part of body is completely devoid of
blood supply?
a ) Brain

¢) Intestine

b) Comea
d) Thyroid

Which state is known as the ‘Spice Garden
of India’?

a) Jammu and Kashmir

b) Punjab

c) Kerela

d) Uttar Pradesh

‘Durand Line’ is the border separating:
a ) India and Pakistan

b) Pakistan and Afghanistan

c) Pakistan and Nepal

d) India and Nepal

Standard cricket bats are made of-

a) Pine wood
c) Teak wood

b) Rose wood
d) Willow wood

With which game/sport is Robin Uthappa
associated?
a) Golf

c) Cricket

b) Hockey
d) Billiards
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41.

42.

43.

45,

46.

The British Prime Minister at the time of
India’s Independence was:

a) Winston Churchill

b) Clement Attlee

¢) Anthony Eden

d) Harold Macmilla

Ibn Batutah, an African traveler, visited India
during the time of: |

a) Alivardi Khan

b) Ala-ud-din Khalji

c) Iltutmish

d) Mohammand-bin-Tughlaq

Which one of the following events took place
at the last during reign of Muhammad-bin-
Tughlaq?

a) Introduction of token currency

b) Increase of land-revenue in Doab

c) Transfer of Capital from Delhito Devnagri
d) Conquest of Khurasan and Iraq

. ICICI is the name of a:

a) Financial Institution

b) Chemical Industry

c) Cotton Industry

d) Chamber of Commerce and Industry

The largest public sector bank in India is:
a) Central Bank of India |
b) Punjab National Bank
¢) State of Bank of India
d) Indian Overseas Bank

Price in the market is fixed by:

a) Stock exchange rates

b) The demand and supply rulmg in the
market at a particular time

c¢) The Finance Minister

d) None of the above

47.

48.

49,

50.

5L

52,

- 1. 8

Who gives recognition to political parties in
India?

a) Parliament

b) President

¢) Supreme Court

d) Blectxon Commission

The Chief Justice of a High Court in India is
appointed by the:

a) Governor of the State

b) Prime Minister of India

c¢) Chief Justice of the Supreme Court

d) President of India

Fiscal policy is connected with:

a) Issue of currency

b) Exports and imports

c) Public revenue and expenditure
d) None of these

Which one of the following courts can a
citizen move for the enforcement of Directive
Principles of State Policy?

a) The Supreme Court

b) The High Court

c¢) BothAand B

d) None of these

The Judges of the Supreme Court hold office

till the age of:
a) 62 years b) 65 years
c) 68 years d) 60 years

Pt. Shiv Kumar Sharmais a maéstro of which
one of the following instruments?

a) Sitar b) Tabla

¢) Flute d) Santoor
Kuchipudi is a dance drama of which of the
following states? .

a) Andhra Pradesh b) Kerela

¢) Kamataka

d) Tamil Nadu
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.54,

o 3-8

56.

-1

58.

59.

61.

62.

India’s National Cricket Championship is

a) Duleep Trophy b) Ranji Trophy

c¢) Irani Trophy d) Sheesh Mahal
Trophy

Jaspal Rana is a distinguished athlete in
which of the following games?
4) Swimming b) Weightlifting

-¢) Shooting d) Archery
Davis Cup is associated with the sport of
a) Cricket b) Football

.¢) Tennis d) Hockey

What is the national game of the USA?
a) Cricket b) Soccer
c) Baseball d) Billiards

The “Dronacharya Award” is associated with
a) Eminent Surgeons b) Famous Artists °

¢) Sport Coaches d) Expert Engineers
Khmer Rouge is a dictatorial party of:
a) Cambodia b) Indonesia
¢) Malaysia d) Thailand

. When is the UN Day celebrated?

a) October 24
c) June 24

b) January 24
d) September 24

Who is the author of *Satanic Versus’?
a) Lewis Carrol

b) Salman Rushdie

c¢) Parry Mason

d) Mulk Raj Anand

Who amongst the following is the author of
the famous book “An Equal Music™?

a) Salman Rushdie

b) Shasthivrata

" ¢) Vikram Seth

d) Kamls Markandeya

63.

64.

- 68.

69.

70.

Who has written “Devdas™?

a) Tarasankar Bandyopadhyay

b) Bankim Chandra Chattopadhyay
c) Rabindranath Tagore

d) Sarat Chandra Chattopadhyay

Who is the author of the book, The God of
Small Things?

a) Mrinal Pandey
¢) Arundhati Roy

b) Shekhar Kapur
d) Arun Shourie

. Who is the author of the book Wings of Fire?

a) Vikram Seth
b) A.P.J. Abdul Kalam

‘¢) Arundhati Roy

d) M.J. Akbar
. Mother Teressa’s native place was:

a) Albania 'b) France

c) Greece d) Italy
. Ustad Amjad Ali Khan is an exponent of:
"a) Flute b) Sitar

¢) Sarod d) Tabla

The reputed musician duo, Tansen and Baiju
Bawra, flourished during the reign of:

a) Jehangir

b) Bahadur Shah Zafar

c) Akbar

d) Shah Jahan

Pulitzer Prize is associated with:
a) Environment b) Journalism
c) Sport d) Cinema

Which Indian ruler has been variously
described as a genius, an eccentric, and the
wisest of fools?
a) Akbar
b) Chandragupta Maurya
¢) Balban
d) Mohammed bin Tughlaq
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71.

72,

73.

Who is considered to be the father of the 74. The first person to float in space was .
Greek system of medicine? a) Neil Armstrong
a) Socrates b) Charaka b) Alexei.Leonov
¢) Plato d) Hippocrates c) Rakesh Sharma
The first woman to scale Mount Everest has _d) Vi Gagarin
been 75. In which of the following spheres has Baba
a) Bachendri Pal b) Junko Tabai Amte contributed to the Indian society?
c) Svetlana d) None of the a) Nuclear.research

above b) Religion
Which freedom fighter had earned the title ) Socla? ok
of being the ‘grand old man of India’? d) Classical ciQe
a) Mahatma Gandhi
b) Jayaprakash Narayan
c) Acharya Kripalani
d) Dadabhai Nairoji

ENGLISH

TO THE GIVEN WORDS

76.

Tl

78.

79.

80.

JEOPARDY

a) Magic b) Adventure
c¢) Enmity d) Danger
IMPEDIMENT '

a)_ Passage b) Obstruction -
c) Fateful d) Destruction
TESTIFY J

a) Witness b) Describe

¢) Recognize d) Appreciate
CANDID

a) Sincere b) Polite

¢) Plain-spoken d) Rude
REPERCUSSION

a) Remuneration b) Consequence
c) Reaction d) Recollection

81.

82.

83.

- 84.

85.

a) Precise 'b) Faultless
c) Fussy d) Having integrity
PARAMOUNT , |
" a) Prestigious b) Supreme
c) Valuable d) Urgent
PROFOUND
a) Profuse b) Boundless
c) Deep d) Fathomless
NOSTALGIC . :
a) Soothing b) Homesick
¢) Diseased d) Indolent
PREROGATIVE
- a) Privilege b) Request

IDENTIFY THE WORD MOST SIMILAR IN MEANING OR SATISFACTOR'Y EQUIVALENT

IMPECCABLE

¢) Desire - d) Command



CHOOSE THE MOST SUITABLE WORD TO BE

FILLED UP IN THE BLANKS:
86. Your story is devoid ...... truth.
a) Of "b) From
c) By d) With
87. I do not hanker........ wealth.
a) For b) From
c) After d) Upon
88. Everything he told me, I ........ before.
a) Had heard b) have heard

c) Heard d) None of these .

89. Although the policemmen searched the

place....... they could not collect any
evidence.

a) Heavily b) Thoroughly

c) Largely d) Caimly

Choose the most suitable ‘one word® for
each of the following expressions given below,
90. One who will never cease to exist

a) Immoral b) Impassable
¢) Immortal d) lmgassiw

91. A person who firmly believes that all the
events are decided by fate '
a) Forte b) florist
c) Fugitive d) Fatalist

92. Things that can be easily set on fire
a) Inflammable b) Sparkler -
c) Fiery d) Rabid
93. An exceptionally brilliant or successful
young person
a) Genius b) Maestro .
c) Intellect d) Whizz-kid
94. Person who: eats too much
a) Famished b) Glutton
¢) Hungry d) Starved

95. Contrary to law
a) Inimical
c) Iiegal

b) Adverse
d) Percept

96. Crime of killing a small baby
a) Insensate b) Infanticide
¢) Innuendo d) Infidel

97. Speech delivered without previous thought
or preparation
a) Oration
¢) Extempore

b) Jargon
d) Harangue

From the alternatives given below, sclect
the one that best brings out the meaning of
the idiom/phrase.

98. A black sheep
a) A person of bad reputation
b) A breed of sheep
c) A dark room
d) Unpleasant feeling

99. YaWning Gap
a) Parted lips
b) A widegap
¢) On the other side
d) More than needed

100. Red tape
a) Power
b) Official delay
c¢) Danger sign
d) Unlucky person

101. To read between the lines

a) To correct the errors

b) To see the hidden meaning
¢) - To study hard

d) To discover something new
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102.Which of the following expressions is
correct? ' |
a) The scenes of Kashmir are charming
b) The sceneries of Kashmir are charming
¢) The scenery of Kashmir is charming
d) The scene of Kashmir is charming

Choose the correct option to fill in the
blank:

11} R———— MBBS doctor is qualified to
practice medicine
a) A b) The
<) An d) Every

104. Find out the correct spelling.
b) Jewellry
d) Jewellery

a) Jewelery
c) Jwellery

105. Find out the correct spelling.
a) Prevalant
c) Prevelant

b) pravalent
d) prevalent

Choose the appropriate word from the
options to fill in the blank which meaningfully
completes the given sentence,

106. Your remark is wide .............. the mark.
a) Off ~b) Of
c) Around " d) Upon
107.He was ............ of his valuables.
a) Cheated b) Snatched
¢) Looted d) Deprived
108. High pitched noises.............. the reader’s
mind
a) Crackled b) Disturbed
c) Dampened d) Crossed
109. Too much work will............. your energy
. a) Drain b) Boost
c) Enhance d) Filter

110. His achievements in the field of social

* welfare are...........
a) Creditable -

c¢) Underestimated

b) Exceptional
d) Manifold

111. India is the largest ......... of films in the
world.
a) Producer b) Maker
¢) Inventor d) Creator

112, The unemployment rate in the country is
. and ample measures should be taken
to solve the problem,

a) Stagnant

c) Alarming

b) Controversial
d) Distinct

113. The Judge ordered that the criminal be

RIS ... Death
a) To b) Under
c) At d) Till

114. If you are unable to pay the amount by the
specified date.......
a) And your name will be struck off our
" register. 5
b) Yourname will be struck off our register.
¢) However your hame will be struck off our
register.
d) Your name struck off our register.

115. Although he was tired, he........ working.
a) Was going on b) Is going on

c) Goeson d) Went on.
116. The police ........ on duty.
a) Are b) Is
¢) Was d) Have
117. This building contains......... sixty rooms.
a) Of b) With
¢) To d) None of these
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118. I've been awake....... four O’clock.
a) For - b) Since
c) Till d) Until
119. Perfect health dependson the........ of a few

simple rules to health.
a) Observation
¢) Observance

b) Occurrence
d) Adaptation

120. The escaped convicts were........ a week
later.
a) Reassured b) Restored

c) Recovered d) Recaptured

121. The essay was excellent......a few small
mistakes.
a) Except for
¢) Besides

b) Except
d) In addition to

122. The doctor advised the paﬁent 2 3 S an

operation.
a) Understand
c) Underline

b) Undergo
d) Underpass

123. Such public men........ are corrupt should be .
exposed. "
a) Which b) Who
c) As d) What

124. The country needs a......, governiment to

tackle the challenges it faces today.
a) Stable b) Stagnant
c) Stationary d) Sustained

25. The accused....having made any statement.
a) Rejected b) Denied
c) Refused d) Declined - .

26. He was charged........ murder and brought
to trial by jury.
a) Of ' b) Against
c) With d) For

127. I'm afraid we can’t agree with each

other........ anything.

b) On
d) Over

In each questions below, out of the four
alternatives, choose the one which best
expresses the meaning of the given word.

128. Luminous
a) Quiet
c) Pressed

129. Gullible
a) Hungry
¢) Insane

130. Adjourn
a) Delay
¢) Bind

131. Mandatory
- a) Human
c) Required

132. Zenith
a) Modest
¢) Tussle

133. Yoke
a) Embryo
¢} Desire

134. Random
a) Casual
c) Order

135. Hoodwink
- a) Cheat
¢} Honmest

b) Unbound
d) Glowing

b) Foalish
d) Cheeky

b) Trip
d) Court

b) Heroic
d) Polite

~ b) Height

d) Shameful

b) Shout
d) Bond

b) Will
d) Limit

b) Viewer

d) Decent
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In each questions below, out of the four
alternatives, choose the word that is most
nearly the opposite in the meaning to the given

word.
136. Upright

143. Loathe
a) Undress
c) Compromise

144, DAUNTLESS

a) Cautious

b) Prefer
d) Dominate

b) Thoughtful

a) Inferior . b) Crooked

¢) Wrong d) Engage c) Weak d) Adventurous
137. Extravagant ]45'RUGG.ED

a) Frank b) Credible a) Delicate b) Coarse -

¢) Partial d) Stingy ¢) Tough d) Timid
138. Subtle 146. SECULAR |

a) Artful b) Coarse a) Righteous b) Religious

¢) Delicate d) Fragile ¢) Spiritual d) Moral
139. Ferocious 147. VIRTUOUS |

a) Prolific b) Strong a) Scandalous - b) Vicious

c) Modest d) Wild ¢) Wicked d) Corrupt
140. Hypocrisy ' 148. AMNESTY

a) Flattery b) Charm a) Hostility b) Punishment

¢) Deceit d) Honesty c) Immunity | d) Acquittal
141. Protract 149. INTRICTATE '

a) Refute b) Clarify a) Foolish b) Simple

¢) Courtail d) Conceal c¢) Straightforward d) Easy
142. Scarcity 150. DORN.IANT

a) Pleasure b)’ Galore a) Active b) Modern

¢) Retrieval d) Amass ¢) Permanent d) Transient

NUMERICAL ABILITY

I51. There are 500 oranges in a box. 12% of 152. A certain sum on simple interest become

them are rotten. How many oranges are double in 20 years. In how many years it

good? will become four times?
a) 60 b) 540 a) 40 years b) 50 years
c) 98 d) 440 c) 60 years d) 80 years



153. Square root of 400 is
a) 40
c) 20

b) 25
d) 100

154. Which of the following fractions has the
highest value?
3/5, 473, 2/5, 172
a) 3/5
c) 2/5

b) 43
d) 2

155. Replace the question mark in the given series
with correct option.

117, 104,91, 78,7
a) 39 b) 60
c) 65 d) 36

156. Which of the following is a prime number?

a) 19 b) 20
c) 21 d) 22 -
157. Which of the following is not a prime
number?
a) 23 b) 29
c) 43 d) 21

158. A sum of money lent out at simple interest
amounts to Rs. 2800 in 2 years and to Rs.
- 3250in 5 years. What is the sum of money?
a) Rs. 2500 b) Rs. 2400
c) Rs. 2800 d) Rs. 3000

159. A sum of money amounts to Rs. 2750 in 2
years at 5% per annum. At what rate the same
money amounts to Rs. 3000 in 2 years?

a) 12% b) 10%
c) 15% d) 20%

160. A fruit seller sells 10 apples for a rupee and
gains 60%. How many apples he bought for
a rupee?
a) 14
c) 15

b) 16
d) 18

161. What is the average of 20, 25, 22 and 237

1
23— 25
a) 3 b)
i 1
— 2 -
c) 222 d) 20 5

162. A train 160 m long crosses a platform of
160 m length in 16 seconds. What is the
speed of the train?
a) 68 Kmv/hr
¢) 72Km/hr

b) 70 Km/hr
d) 62 Km/hr

163. Population of a village is eight thousand. If

6% men and 10% women are added,
population becomes 8,600. Then the number
of men in the village'is

a) 4800 b) 5000

c) 5060 d) 6000

164. If the rate of exchange is $ 7.50 for Rs. 100,
then how many dollars will be equal to Rs.
550?

a) 41.75
c) 42.75

165. The population of a town exceeds one-fiith

b) 42.25
d) None of these

of its own population by 5000. What is the

population of the town?
a) 25000 b) 10000
c) 6250 d) 4000

166. If 60 metres of cloth costs Rs. 135, find the
cost of 42 metres of cloth.
a) Rs. 60 b) Rs. 120
c) Rs. 50 d) None of these

167. Aman’s wage was reduced by 50% and again
the reduced wage was increased by 50% what
is his loss? '
a) Nothing
c) 40%

b) 25%
d) 50%
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168. Krishna started a business with a capital of
Rs. 9000. Four months later Rani joined him
with capital of Rs. 12000. At the end of the
year, total profit eamed was Rs. 2550. Find
Rani’s share in the profit?

a) Rs.975 b) Rs. 1350
¢) Rs. 1000 d) Rs. 1200

169. Mahesh invested Rs. 1000 for 3 months and
Rajvir invested Rs. 800 for 4 months. If they
gained Rs. 620, how much Rajvir will get

out of it? .
a) Rs. 320 b) Rs. 400
c) Rs. 220 d) Rs. 350

170. A man sold his watch for Rs. 190 thus bearing
a loss of 5%. The cost price of the watch is-
a) Rs.237.50 b) Rs. 220
¢) Rs.210 d) Rs. 200

171. A and B can finish a work in 16 days while
A alone can do the same work in 24 days.
Thercfore, B alone can finish in- '
a) 36 days b) 24 days
c) 48 days d) 56 days

GENERAL INTELLIGENCE AND REASONING

172. Arailway train travelling at 72 Km per hour
crosses a signal in 9 seconds. What is the
length of the train in metres.

a) 1800 b) 180
c) 90 d) 18

173, If simple interest on a sum at the rate of
10% amounts to Rs. 4000 in 4 years. What
will be the sum?

a) Rs. 9000 b) Rs. 10000
c) Rs. 11000 d) Rs. 12000

174, The average of 11 numbers is 21. If 3 is
added to each given number, what will be
the new average?
a) 21
c) 33

b) 31
d) 24

175. In an examination 93% of students passed
and 259 failed. The total number of student
is
a) 3700
c) 3950

" b) 500
d) None of these

Directions (Qs. No. 176 to 180):refer to the data given in the following table fo answer the

set of questions given below the table.

25" January

Nameof | 21" January 22* Janvary | 23" January 24" January

the City Max. Min. | Max. Min. | Max. Min. Max. Min. Max. Min.
Ahmadabad| 27.06 12.07 | 28.08 11.09 {28.00 13.01 28.02 14.03 27.04 15.05
Mumbai 29.05 16.04 | 29.03 1502 |29.01 1500 | 28.09 16.08 28.07 15.06
‘Lli_"a_ngalore 26.08 15.09 | 30.00 15.01 |27.02 15.03 28.04 16.05 29.06 15.07
Bhopal 25.08 13.07 | 31.06 10.05 {26.04 11.03 2803 12.01 | 30.00 14.09
Hyderabad { 28.09 19.01 | 26.02 18.03 |30.04 17.05 28.06 16.07 31.08 10.02
Chennai 29.08 1901 | 27.00 18.09 |31.08 17.07 28.06 16.05 32.04 15.03
Trivendrum | 30.06 23.07 | 24.08 19.09 |32.00 18.01 28.04 20.03 33.04 17.05
Panji 31.05 18.04 | 23.03 16.02 |33.01 17.00 27.09 17.06 26.07 16.06 ,



Directions (Qs. No. 176 and 177): For the
given cities, on which of the given dates, the
minimum temperature was at its highest

during the given period?
176. Hyderabad
a) 21% January - b) 23" January
c) 22 January d) 25" January
177. Trivendrum
a) 25" Januvary b) 21% January
¢) 23" January d) 25" January

Directions (Qs no. 198 to 180):On the given
date, in which of the following cities the
maximum temperature was lowest amongst
the given cities?

178. 24" January

a) Panji b) Ahmadabad

¢) Mumbai d) Bhopal
179. 23" January

a) Hyderabad b) Trivendrum

c) Chennai . d) Bhopal
180. 22 January

a) Bhopal b) Bangalore

c) Trivendrum d) Panji

Rephée the question mark with the correct
option given below

181. Governor : President :: Chief Minister : 7 -

a) Commission

b) Attorney-General
c) Justice

d) Prime Minister

182. Patient : Doctor :: Litigant : ?

a) Advisor b) Help

c) Legal aid d) Lawyer
183. Prosecutor : Accused :: Plaintiff : ?

a) Appellant b) Defendant

c) Plaint d) Suit

184. President of India : 35 :: Member Parliament
(Rajya Sabha) : ?
a) 18 b) 21
e} 25 d) 30

185. India : Parliamentary system :: USA : ?
a) Democratic system
b) Presidential Systemn
c) Federal System
d) Republican System

186.  Taka : Bangladesh :: Rupiah : ?
a) Spain b) Denmark
¢) Indonesia d) Malaysia

187. If NUMBER is coded as UNBMRE then
GHOST will be coded as
a) HOGTS ‘ b) HGOTS
¢) HGDST d) HGSOT

188.If RADIO is coded as UDGLR then PHOTO
will be coded as

a) OIPWR b) OTOPT
¢) SKRWR d) SKPWR
189. Find the odd one out in the following number
series.
18, 30, 36, 60, 78, 98,
a) 30 b) 36
c) 60 d) 98

190. Six students A, B, C, D, E and F are sitting.
A and B are from Mumbai, rest are from
Delhi. D and F are tall but others are short.
A, Cand D are girls, others are boys. Which
is the tall girl from Delhi?

ay F b) D

c) E d) C
191, Cataract-eye; pyorrhea-?

a) Breath b) Tongue

c) Ears . d) Teeth
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192. If MADRAS is coded as 56, then CALCUTTA
will be coded as
a) 76 b) 8
c) 38 d) 81

Questions below contain a statement on
relationship and a question regarding
relationship based on the statement. Shade
the correct option on relationship on the
Answer Sheet.

193, Introducing a man, a woman said, “he is the
only son of my mother’s mother.” How is the
woman related to the man?

- a) Mother b) Aunt
c) Sister d) Niece

194. Pointing to a man on the stage, Sunita said,”
he is the brother of the daughter of the wife
of my husband” how is the man on the stage
related to Sunita?
a) Son
¢) Cousin

b) Husband
d) Nephew

195. Introducing a man to her husband, a woman
said, “his brother’s father is the only son of
my grandfather”. How is the woman related
to this man? |
a) Mother
c) Sister

b) Aunt
d) Daughter

In questions below two words are paired
which have certain relationship. After the
doublecolon (::), another word is given. Shade

* the correct option on the Answer Sheet which

pairs with this word taking into account the
pair already given
196. UP : Uttranchal :: Bihar : ?

a) Jharkhand b) Chhatisgarh

c) MadhyaPradesh  d) Manipur

197. Botany : Flora :: Zoology : ?
a) Fauna b) Biology
c) Fossils d) Pathology

198. King : Royal :: Saint : ?
a) Religious
c) Priesthood

b) Red
d) Blue

199, Laugh : Happy :: Cry : ?

a) Sad b) Bickering

c) Frown d) Complain
200. Black : Absence :: White : ?

a) Red b) Presence

c) Rainbow d) Crystal
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